
HEM 
1.           Stitch gauge x           One Half Bust/Chest =           Sts to Cast On 

SHAPE ARMHOLES 

2.            Cast on Sts (Use answer from #1) - (           Crossback x            Stitch 
gauge) =            Sts to be decreased at Armhole 

3.            Sts to be decreased at Armhole ÷ 2 =            Sts to be decreased each side 

4.            Sts to be decreased each side ÷ 2 =            Initial Bind Off 

5.           Armhole Depth - 2.5”=          “ 

SHAPE BACK NECK 

6.(        Neck Measurement ÷ 2) x         Stitch Gauge =          Back Neck Sts 

7.        Crossback Sts (#3 on Sweater Measurements Worksheet) - (.80 x       Back 
Neck Sts) =         Center Sts 

8. (        Crossback Stitches -         Center Sts) ÷ 2 =         Shoulder Sts  

9.((         Back Neck Sts x .20) ÷ 2) =           Sts to Decrease Each Side 

10. (          Row Gauge x 2.5)÷(        Sts to Decrease Each Side ÷ 2) =         How 
Often to Decrease 

Sweater Back Worksheet


